EARAROBEEIERT — 2 N— IBISH —F

20165108240 (B) 12EI%#1H

mﬂﬁ%Sﬁ&‘ﬁﬂ 6 ¥5%R3® (xwlw | lmEmml - |5 5) wom 8
[AE4£] 1% :230,000” ~ 23#%&:53,000”M  33%&:23,000M”  43%&:17,000 ” . 57 :12,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. o N . BHBENT 129, —8-6- . — HOEEZ (%1)
1111 [T RTFI—=IL R "3 5.0 1(2_9)0 8861 | 378 2 (4_156) HEBF :
L NZ— B:IFIUI BEES
> _ 4 3 | FILE 1:29.1 2-3-1-2 [ 39.3| — 1 463 | J1IUBBAZE (56#4)
EH 3| ¥IA7ZR—N 54.0 (7€) 4s) | (B) Bittus
Ri*xfavRk—5— B:T514LY1v>a AR S
S k. 4 3 | MRS 1:29.4 5-5-4-4 | 39.0| — 8 M1 | BAB— (&)
3|55 FLTHREY b 56.0 1 1/2) (+4) |BEOHEEZ
L7 —=3IUT7> BiFLTHA=UT * BE
S = iyl : —6-5- = EIBRERL (SEHA)
A )| va-v7srT # o3 | R 1(.12/92.)5 6-6-5-3 | 38.7 3 ::142) e A
LW h—r BI-FTH T BRI K5
. ST 30, 7 3| - B3 (S542)
s 6| FvEES €3 | WT 1(3:))3 7-7-7-6 | 39.3 6 ;1_148) e A
R:g=/F¥LLy b BNF—% Hth 2
. = . BERE A :30. -1-1- . — HREEEE (513)
6l8lg| 7TvorINRTa s i R ° (4_114) e
NIE DS E S F W =1 & & &, 155 Y1 77— L
s —ppe # 3 | EHRE 1:31.0 3-2-3-6 | 41.4| — 4 400 | BAREEZ (F42)
g4 Ev7ET A= 54.0 @ 1/2) 2) W Tr-xbETas
XL ThANAN BEYTE2T7LT 1 b i)
# 3 | RBEZ 1:31.5 3-4-7-8 |41.0| — | 7 | 457 |TEAE= ($#)
glglg|FV—-RNhA 54.0 2 1/2) (+2) | BEEX
RFIU—95Y> BIIELTT—K INEF4IS
. .. it 3 KIAHEE — - — — — AEEH (BHE)
¥ 7|7 EIWNTH g 56.0 = (B4 (4_714) eIl
I INATA—h— B:AIEZRIL Bl EE
® I—F—@EBIERL
|S=7r= 8,3,(4,9),5,2,6,1
2o=3F= 8,4,3,9,5,2,6,1
P =377= (3,8),4,5,2,1,(6,9)
41—F— 1,3,2,5,8,(4,6),9
[ N5
B 1 310 794K 1-3 150M e E 1-3 290M JEE 1-3-5 4,590/
# B 1 120M 1= 2,370M B E 1-3 250/ EE 1-3-5 26,6204
3 110 3-5 1,570H B E 1-3 720M
5 1,040

ABICOVWTRDTEEERROODE. TR LIV,




